

$$r_m, m \Rightarrow \frac{r_m}{r} = \frac{t}{r} \Rightarrow 9m^2 = 1 \Rightarrow m^2 = \frac{1}{9} \Rightarrow m = \pm \frac{1}{3}$$

$$\left\{ \begin{array}{l} r_m = \frac{a}{r} \Rightarrow 12m = a \left\{ \begin{array}{l} 12 \times \frac{1}{3} = 4 \\ 12 \times \frac{-1}{3} = -4 \end{array} \right\} \quad 1 - (-1) = 2 \end{array} \right.$$

$$\sqrt{\frac{1}{x}} + \sqrt{\frac{1}{y}} = a \Rightarrow \frac{1}{x} + \frac{1}{y} + 2\sqrt{\frac{1}{xy}} = 2a \Rightarrow \frac{x+y}{xy} + 2\sqrt{\frac{1}{xy}} = 2a$$

$$x+y \leq \frac{m+1}{r_y}, \quad xy \leq \frac{1}{r_y}$$

$$\frac{m+1}{r_y} + 2\sqrt{\frac{1}{r_y}} = 2a$$

$$mm^2 + m + 1 = \dots \xrightarrow{m=1} -m^2 + m + 1 = 0 \Rightarrow m+1 \pm 1 = 2a \Rightarrow m = -1$$

$$\therefore \frac{1}{a} = \frac{1}{-1} = -1$$

$$(a+b)^2 = a^2 + b^2 + 2ab$$

$$1 = a^2 + b^2 \Rightarrow a^2 + b^2 = 1 \quad \left\{ \begin{array}{l} a+b=1 \\ a-b=\pm 1 \end{array} \right. \Rightarrow \begin{array}{l} b=0 \\ a=1 \\ a=0 \\ b=1 \end{array}$$

$$(a-b)^2 = a^2 + b^2 - 2ab \Rightarrow a-b = \pm 1 \quad \left\{ \begin{array}{l} a+b=1 \\ a-b=\pm 1 \end{array} \right. \Rightarrow \begin{array}{l} a=1 \\ b=0 \\ a=0 \\ b=1 \end{array}$$

$$(a-b)^2 = 1 \Rightarrow a-b = \pm 1$$

$$a+b=1 \Rightarrow aB = a \quad a < B \Rightarrow \dots \Rightarrow \frac{a}{r}(\alpha^2 + \beta^2) + \frac{1}{r}(\alpha^2 - \beta^2) \Rightarrow \alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta = 1$$

$$\alpha^2 - \beta^2 = (\alpha + \beta)(\alpha - \beta) \Rightarrow -2(\sqrt{2})$$

$$2\sqrt{2} + 1 = \frac{a}{r}(\alpha^2 - \beta^2) + \frac{1}{r}(\alpha^2 + \beta^2) \Rightarrow 2\sqrt{2} + 1 = a(\alpha^2 - \beta^2) - 1\sqrt{2}$$

$$\Rightarrow 2(\sqrt{2} - \sqrt{2}) \rightarrow \sqrt{2} = -1\sqrt{2}$$

$$\frac{1\sqrt{2}}{a} = \frac{1\sqrt{2}}{r} \Rightarrow \alpha\beta = -1\sqrt{2} \Rightarrow \alpha\beta = -1 \Rightarrow \alpha\beta \leq 1 \Rightarrow \frac{1}{a} \leq \frac{1}{r} \Rightarrow \frac{1}{a} \leq 1$$

$$x^2 - vx - 1 = 0 \Rightarrow \frac{x^2 - vx}{r} = 0 \Rightarrow x^2 - vx + 1 = 0$$

$$x = \frac{v \pm \sqrt{v^2 + 4}}{2} \quad x > 0 \Rightarrow x = \frac{v + \sqrt{v^2 + 4}}{2} \Rightarrow m = \frac{1}{r} \sqrt{\frac{v + \sqrt{v^2 + 4}}{2}}$$

$$\Rightarrow S = 0$$

$$p = \frac{-v - \sqrt{v^2 + 4}}{2}$$

$$rp^2 - mp + 1 = 0 \Rightarrow rp = r \times \left(\frac{-v - \sqrt{v^2 + 4}}{2} \right) = -\frac{v + \sqrt{v^2 + 4}}{2}$$

$$\begin{aligned}
 & \gamma a^r + a n - b = \dots \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 = 1 + \gamma_1 + \gamma_2 \\
 & \quad \quad \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & -\frac{a}{\gamma n} \leq -\frac{1}{\gamma} \leq \gamma_1 + \gamma_2 \\
 & 1 - \frac{1}{\gamma} \leq \gamma_1 + \gamma_2 \leq \frac{1}{\gamma} + \gamma_1 + \gamma_2 \Rightarrow \frac{a}{\gamma} = \frac{1}{\gamma} \Rightarrow a = 1 \\
 & -\frac{1}{\gamma} \leq (1 + \gamma_2) (\gamma_1 + \gamma_2) \leq \gamma_1 + \gamma_2 + \frac{\gamma_1 + \gamma_2}{\gamma} + \frac{1}{\gamma} = -\gamma \Rightarrow \gamma_1 + \gamma_2 - \frac{1}{\gamma} + \frac{1}{\gamma} \leq -\gamma \Rightarrow \gamma_1 + \gamma_2 \leq -\gamma \\
 & \left[\begin{array}{c} -4 \times 1 \\ -\frac{1}{\gamma} \end{array} \right] = \left[\begin{array}{c} \gamma \\ \gamma \end{array} \right] \cdot \left[\begin{array}{c} -\gamma \\ \gamma \end{array} \right] \cdot \left[\begin{array}{c} -\gamma \\ -\gamma \end{array} \right] \\
 & \Rightarrow \frac{b}{\gamma} \leq -\gamma \Rightarrow b \leq -\gamma
 \end{aligned}$$

$$\begin{aligned}
 & a n^r + a n - b = \dots \quad f \cdot \beta^r + r \cdot a^r - r \cdot a = 1v \\
 & \quad \quad \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & \quad \quad \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & f \cdot x \frac{a \beta + b}{a} + r \cdot x \frac{a \alpha + b}{a} - r \cdot \beta = 1v \Rightarrow f \cdot \alpha \beta + f \cdot b + r \cdot a \alpha + r \cdot b - r \cdot \beta \alpha = 1v \alpha \\
 & \Rightarrow r \cdot a + f \cdot b = 1v \alpha \Rightarrow f \cdot b \leq -r a - b \leq -\frac{r}{f} \frac{a}{f} \\
 & \frac{\sqrt{\Delta}}{|a|} \leq \frac{\sqrt{a^2 + f a x - \frac{r}{f} a}}{|a|} \leq \frac{\sqrt{\frac{r}{f} a^2}}{|a|} = \sqrt{\frac{r}{f}}
 \end{aligned}$$

$$\begin{aligned}
 & S = a + 1 + r \alpha + r \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & P \leq a \leq \alpha^r + r \alpha \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & n^r - (r \alpha + 1) n + b \leq \dots \rightarrow B, B + r \\
 & S \leq 1 + r \alpha + r \rightarrow B \leq f \\
 & b - a \leq r f - r = \boxed{r f}
 \end{aligned}$$

$$\begin{aligned}
 & \alpha + \beta = -\frac{b}{a} \leq -1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \\
 & a b \leq -1 - m^r \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1 \quad \gamma_1 + \gamma_2 \leq \gamma_1
 \end{aligned}$$

$$\begin{aligned}
 & A(\gamma_1, \gamma_2) \quad B(-\gamma_1, \gamma_2) \quad n \leq -\frac{a + r}{\gamma} \leq -1, \gamma = 1 \quad r \leq \sqrt{-\frac{1}{a}} \quad n \leq -1 + r \\
 & \gamma - 1 \leq a(n + 1)^r \Rightarrow -1 \leq a(n + 1)^r \Rightarrow (n + 1)^r \leq -\frac{1}{a} \Rightarrow \alpha \leq -1 + r \quad \beta \leq -1 + r \\
 & (\alpha^r + \beta^r) \leq a \rightarrow (1 + r)^r + (-1 - r)^r \leq (1 - r + r^r) + (1 + r + r^r) = r + r^r \\
 & \Rightarrow r^r + r \leq a \rightarrow r^r \leq \frac{a}{r} \quad -\frac{1}{a} \leq \frac{r}{r} \rightarrow a \leq \frac{r}{r} \\
 & \gamma - 1 \leq a(n + 1)^r \Rightarrow a \leq 1 + a \leq 1 - \frac{r}{n} \leq \left[\frac{1}{n} \right] \\
 & \quad \quad \quad \text{فرضاً به}
 \end{aligned}$$